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MANAGEMENT
PAPER - I1I

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

questions are compulsory.

1.  Which of the following are not the assumptions related to the theory of consumer

behaviour as per the cardinal utility approach ?
(1)  Rational consumer

(i) Unlimited money income

(iii) Utility cardinally measurable

(iv) Diminishing marginal utility of money
(v) Constant marginal utility of commodities

(vi) Maximization of satisfaction

(vii) Utility is additive

Code :

(1) (i), (i), (v) and (vii) (2) (), (iv) and (v)
3) (v, (i), (iv) and (vii) (4) (vi) and (vii)

2. Which one of the following properties is not the property of isoquants in terms of inputs

and output ?

(1) Negative slope

(2) Concave to the origin

(3) Non-intersecting and non-tangential

(4) Upper isoquants represent higher level of output

3. Match the items of List — I with the iiems of List — II and indicate the code of their correct

matching :
List - I
(i)  Costs which do not take the form of cash outlays, nor do (a)
they appear injthe accounting system
(i) Costs which are m{ade once and for all, and cannot be (b)
altered,, increased or decreased by varying the rate of
outpuf, flor can they be recovered.
/  (iii) Expectedfetutns from the second best use of the resources (c)
that are foﬁgohe due to the scarcity of resources.
(iv): Costs in tlhe form of depreciation allowances and unpaid (d)
~ interest drtl the owner’s own funds
Codes :
@ (b © @
(L Gv) ) @) @
2 @ @) 36 (@Gv)
(3 @@ v @ >
4 Gy @) Gv) @
Paper-I11 2

List - 11
Sunk costs

Opportunity
cost

Book costs

Imputed costs
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4. Which one of the following market structures has many firms with real or perceived
product differentiation and some control over price of their products ?

(1) Perfect competition (2) Monopolistic competition
(3) Oligopoly (4) Monopoly

5. Which one of the following is not covered in the study of macro economics ?
(1) Price and output determination of a commodity
(2) Inter-relationships among aggregate consumption, savings and investment
(3) Business cycles

(4) Factors and forces of economic fluctuations

6. An open system of organisational structure becomes an efficient and effective system
when it covers which four of the following ?

(a) Law of equifinality

(b) Negative entropy

(c) Self-regulating

(d) Self correction through feedback
(e) Hierarchical communication only

(f) Dynamic equilibrium

Code :
(1) (a), (b), (d) and () (2)  (b), (c), (d) and (e)
(3) (a), (c), (d) and (f) 4)  (c), (d), (e) and (f)

7.  Consider the following statements :
Statement — I : Role efficacy contributes to work motivation.

Statement — II : Norms of recognition of competence cannot promote a climate of work
motivation.

Statement — III : Opportunities to influence decisions does not increase work motivation.
g

Statement — IV : Work motivation is always directly proportionate to the challenge the job
provides ot the individual.

Choose the correct option :

(1) Statements I and II are correct

(2) Statements I, II and IV are correct
(3) All statements are correct

(4) Statements II, III and IV are incorrect
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Match the List — I with those of List — II and choose the correct code :

List -1 List - II
(Thinker) (Conceptual model for human behaviour)
(a) Kierkegaard and Nietzsche (i) Behaviouristic model
(b) Sigmund Freud (i) Eclectic model
(c) Pavlov & Watson (ii1) Existentialistic model
(d) Douglas McGregor (iv) Psychoanalytic model
Codes :

(@ (b () (@
(H @) Gv) @ 3G
2 @ (@) G (@Gv)
) Gv) Gy (i) (@)
@ G @ >@v) (i)

9.  Which of the following is the fundamental assumption about human behaviour ?
(1) Caused behaviour (2) Goal oriented behaviour
(3) Motivated behaviour (4) All of the above
10. Assertion (A) : The interest in human relations at work has become very popular in
modern days.
Reason (R) : Social pressures brought increasing pressures for an improved human
climate in organizations.
Codes :
(1) Assertion (A) and Reasoning (R) both are correct and (R) is correct explanation of (A).
(2) Assertion (A) and Reasoning (R) both are correct, but (R) is not right explanation of (A).
(3) Assertion (A) is correct, whereas Reasoning (R) is incorrect.
(4) Reasoning (R) is correct, whereas Assertion (A) is incorrect.
11.  Match the items of List — I with the items of List — II.
List -1 List — II
(a) Line fur&tion (i) Administering various benefit programmes
(b) Co—ordingt_ive (i) Directing the activities of the people in his own
function f ' department
(c) Staff function (iii) Ensuring that approved and adopted HR objectives,
policies and procedures are being consistently carried out
Codes : .
(@ () (o
(H @ @Gy (i)
(2) () @) @)
(3) () i) @
4 (1) (@) (1)
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12. A graphical method used to help identify the relationship between a measure of business
activity and staffing levels of an organization is known as :

(1) Managerial judgment (2) Trend analysis
(3) Ratio analysis (4)  Scatter plot

13. Match the job evaluation method given in List — I with its characteristics given in List — II.

List - I List - I1
(a) Ranking (1)  Scored separately to produce overall points score for the, job.
(b) Job (i) Whole job comparisons made to place them in pf‘der of
classification importance. r
(c) Factor (iii) Job grades are defined and jobs are slotted-into grades,. iay
comparison comparing the whole job description with the grade definition.
(d) Points (iv) Panel members individually compare each job in turn with all
method the others being evaluated. Points are awarded according to

whether the job is more, less or eqlially &iemanding than each
of the jobs with which it is bging compared.

Codes : ] '

(@ () (© (@

(H G G Gv) @)

2 ® @) (a1 ({v)

)  Gn (@) @Gv) @

@ @ Gv) (i) (@)

14. Assertion (A) : The stage or level at which grievance settlement takes place, is an index
of the climate or spirit that prevails in the organisation.

Reason (R) : The lower the level of settlement, the quicker the redressal of a grievance.
Codes :

(1) (A) is correct, but (R) is incorrect.

(2) (A) is incorrect, but (R) is correct.

(3) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(4) Both (A) and (R) are correct and (R) is the correct explanation of (A).

15. Extra-mural welfare activities include all those welfare activities or services or amenities,
which are undertaken :

(1) To give extra benefits to employees

(2)  As surprise bonus announced to employees
(3) Outside the factories

(4) Inside the factories
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16. Which one is not correct ?

(1) The NPV and IRR methods make the same accept/reject decisions for independent
projects.

(2) The payback period is defined as the number of years required to recover a projects’
cost.

(3) The discounted payback method discounts cash flows at the rate of interest.

(4) The NPV method assumes that cash flows will be reinvested at the firm’s cost of
capital.

17. Match the items of List — I with the items of List — II.

List -1 List - II p
(a) Optimum (i) strikes a balance between current dividends and {
dividend policy future growth so as to maximise the stock Igrice. f
(b)  Stock split (i) adividend paid in additional shares. J
(c) Stockdividend (iii) increases the number of shares o-l*ltstanding.
(d) Tax preference (iv) investors prefer to® have companies retain
theory earnings. /"{ =i
Codes :
@ (b © @
(H @ @Gv) (@) (D)
(2) G @Gv) @) @)
3 O G @G (3Gv)
@ O @Gy (@Gv) (i) )
18. Match the items of List — I with the items of List — II.
List -1 List — II
(a) Merger . (i) designed to make a company less
" vulnerable to a takeover.
(b) Vertical merger {(ii) a merger of companies in totally
d different industries.
_ (c) Conglomgr_ate (i11) the combination of two firms to form
( merger | | a single firm.
(d) Defensiveimerger (iv) a merger between a firm and one of
its suppliers or customers.
Codes : _
@ (b © @
() G @) @ (@Gv)
(2) (@Gv) () (@@ (i)
(3) (i) @(v) G (@)
@ @ (@G @Gv) (i)
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19. Match items of List — I with the items of List — II.

List - I List — II
(a) Working capital (i)  used to hold down inventory costs
(b) Cash conversion cycle (i) the practice of purchasing components
(c) Just-in-time system (iii) current assets
(d) Outsourcing (iv) inventory conversion period + receivables
collection period — payables deferral period

Codes :

@ (b © @
() G @ G @Gv)
(2) @) Gv) @ >
(3) @Gv) (@ (u) (i)
4 @) @ @Gv) (@)

20. Match the items of List — I with the items of List — II.
List -1 List — I1
(a) Euro Dollar (i) a bond sold by a T
the currency of the'country in which it is sold.
(b) Foreign Bond (ii) “

currency the bond is denominated.

F

(¢) Euro Bond (iii)
forward rates, (

(d) Premium on (iv)

Forward Rate Vi
Codes :

(@ (M (© @
(h Gv) @© (@) (i)
(2 @Gy () 3i) (@[Qv)
(3) (Gv) (@ (i) (1)

4 @) @G () (@Gv)

21. Consider the following statements and indicate the correct answer :

go';‘;ign borrlower but denominated in
. I .

a bond sold in a countr1 other than the one in whose

the situation when the spot rate is greater than the

a US-ﬂo}ilar deposited in a bank outside the United States.

Statement I : The holistic marketing concept is based on the development, design, and
implementation of marketing programmes, processes, and activities that recognize

their breadth and interdependencies.

Statement II : Holistic maketing acknowledges that everything matters in marketing —

and that a broad, integrated perspective is often necessary.

(1)  Only Statement I is correct.

(2)  Only Statement II is correct.

(3) Both Statements I and II are correct.

(4) Both Statements I and II are incorrect.
Paper-I11 12
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4
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22. Consider the following statements related to different stages of PLC and choose the
correct code :

(a) Introduction

A period of slow growth and low profit

(b) Growth — A period of rapid market acceptance and slow profit improvement

(c) Growth — A period of rapid market acceptance and substantial profit
1mprovement

(d) Maturity — Sales growth and profits stabilize

(e) Maturity — Slow down in sales growth and profits stabilize

(f) Decline — Sales show a downward drift and profits erode

Code :

() (), (c), (e) and (f) (2) (¢, (e) and (f)

(3) (), (b), (d) and () (4)  (b), (e) and ()

23. Which one of the following is a consumer goods market testing method in which the
company chooses a few representative cities and puts on a full marketing communications
campaign, and the sales force tries to sell the trade on carrying the product and giving it
good shelf exposure ?

(1) Test markets (2) Simulated test marketing
(3) Sales-wave research (4) Controlled test marketing

24.  Match the items of List — I with items of List — II and select the correct code.
List -1 List - IT
(a) Cash refund (i) Certificates entitling the I".be_ar‘gir 10 a stated saving on the
offers purchaseof a specific pro@uct.
(b) Premiums (i1) Exp@cit,{or implicit promises by sellers that the product will
plgrfa'orr;'l as specified or that the seller will fix it or refund
*the customer’s money during a specified period.

(c) Product _ (1)) Merchandize offered at a relatively low cost or free as an
warranties 4 # incentive to purchase a particular product.
(d) Coupons (iv){ Provide a price reduction after purchase rather than at the

retail shop.
Codes :
@ () () (@
(H @ @Gy @) (@Gv)
(2) () Gv) G @)
(3) Gv) () (@G (i)
4)  (Gv) (i) () (@)

25. is the process of carefully managing detailed information about individual
customers and all customer “touch points” to maximize loyalty.
(1) Personalizing marketing (2) Customer empowerment
(3) Customer value management (4)  Customer relationship management
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22. i uer 9 & fafye wRon @ Getua Hefated weE w faer ST o) @@t e g

(a) WEAT  — o g R 5 A ety
(b) fowm — e SR T 3R T § T o &l 37arg
(c) fowmm — I ISR W 3R A § T GER & 3Tary

(d) uRueear - foel T@RRT SR o e
(e) URUFeArT — fohl d@FRI W ORI SR T ferar

f =™ —  fosnt & st TR o H &g

356":

(1) (a), (c), (e) 3 () 2) (o), (e) HT ()
3)  (a), (b), (d) 3 () @) (b), (e) I ()

23, frAfeiEd B & S STE-a] IR TR USid § e e $ far el w9 §
3R U 1 Toqur Herg AT I sl & 31 fersht oot SeTg Wb o STehY sre bl WA Sl ©
3 TH TS 37T VS92 Sl & 2

(1) TR0 SR (2)  3FTEY geTor fauur
(3) fosni-ai gy (4) THam wietor faque
24, AT — 1 0 TST B G — 11 B AT & e GATeTT B 3R TET B BT 99T B
Tt - 1 - 11
(a) % AOEI TR (i) Wicfthehe ST 4R i T (1T 36T Bl THE W Sfeetad
(3TRT) I ] FFSR T E I

(b) aferges (i) (i) foodpeT SRT T A1 S AT foh SeaT e Sfeeita
\ %ﬁ‘—rcbuu 77 o fersha 29 S T A1 Uk YR Sty

__h%aﬁwwrfﬁamm|
(c) IR TR (iii) T W SIS Sl TRIT W WA & &9 H G0 T 3TUeTHT
< 8 T Tog a7 &I H & |
(d) o LGy TS o e TS o e qed H e FEH F |

kTN

@ @ (© @@
(H @ @G 3G ()
(2) (@) @Gv) G @
(3) Gv) (H (@) (i)
4 av) @) @ @

25, Tefafea & & 3 i Ot Ak & ek SFad &Y U UM o aR H {axgd ot &l 3]

T SUHIRTT 29 IR’ Rl el il SATehad X o TTT e e gesh Fae o S & 2

(1) = faqom (2) ST TSI
(3) ST Tod Ve (4) ST GEY TEY
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26. Match the items of List — I with the items of List — II relating to jobs of production and
operations management and their time horizons and indicate the code of their correct

matching :
List - I List — I1
(Jobs) (Time horizon)
(i)  Safety and maintenance systems (a) Long time horizon
(ii)) Scheduling of manpower (b) Intermediate time horizon
(i) Purchasing policy (¢)  Short time horizon
Codes :
(@ () (o

H @O Gy (i)
(2 Gy (@) (i)
) Gy (i) (@)
@4 (@ () (i)

27. Which one of the following operations research models is cate;gorized on the basis of the
utility of the model ?
(1) Simulation models (2) Predictive models
(3) Analogue models (4) Deterministic models

28. Which one of the following criteria of decision-making under the state of uncertainty is
based on the opportunity loss decision approach ?
(1) Maximin or Minimax (2) Laplace criterion
(3) Hurwicz criterion (4) Criterion of regret

29. Which of the following is used to know the average number of customers in the Queue
system when arrival rate is denoted by 'y and service rate by i ?

A 1
n = 2) ——
M @ 5
A A
3) ——— 4) —
©) H(—=2) ) -2
30. The product control is achieved through what ?
(1)  Control charts (2)  Acceptance sampling plans
(3) Both (1) and (2) (4) None of the above

31. Which one of the following is a condition when sampling distribution of mean is not
normal ?
(1) Population distribution is normal and sample size is more than 30.
(2) Population distribution is not normal and sample size is small (< 30).
(3) Population distribution is not normal but sample size is large (> 30).
(4) Population distribution is normal and sample size is less than 30.
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26. A — 1% W1 & gl — 1 & T IeEA IR Jare Haee o i agn 3 99 fafast &
SR GHCTT Y T 37k Tel GHH o Fe i JRT :
Tt - 1 e - 10
(FT) (@ faafereT)
(i) @I 3R STV UOMEH  (a) &1 GH feffarst
(i) - &1 @9 grag (b)  TeAadr 9ug fafast
(it) sHF Aifa (c) oY TFF fefrst
e
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(@ (b)) (©
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(3) HHMA THAT (4) a7
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(1) TN S7Er Hded (2) U™ ATEE
(3) gfos AmgE (4) ITEET H IS

29. 9 UEH I B 9T ¢ H 31X Tl S Bl UEdH W &l a9 UfeRd JoTelt § UTeehi i e G
ST o few frferfada & @ fergept v fopan s & 2

A 1
Ol @ T3
A A
©) H(p=2) @ H-2
30. 3Scure T fnees g1 v TR ST & 2
(1) o (2) TP AfqEE T
(3) (1) 3R (2) AT (4) W | G g 7@

31. e ol UieEa s TR el e @i fefd o fefataa § @ % 9 U 9 el 2
(1) TEE 929 A BT € AT Uideel i SR 30 § 2 8iar € |
(2) STEEAT S AT AR el & SR UiAgeT b R BIET (< 30) BT € |
(3) SHEEAT S WHMT Tél BT & siosh AdgeT SR §ET (> 30) B ¢ |
(4) STEEA 92 GE BT € 3T Hfaeel 3R 30 W Y BT § |
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32. Statement — I : Exponential probability distribution is closely related with Poisson
distribution.

Statement — II : Mean, median and mode of the normal distribution are equal.

Statement — III : The standard deviation of the binomial distribution is \/n—p when n
denotes number of observations and p the probability of success.

Codes :

(1) Statements — II and III are true while Statement — I is false.

(2) Statements — I and III are true while Statement — II is false.

(3) Statements — I and II are true while Statement — III is false.

(4) All the three statements are true.

33. Which one of the following requires additional information to calculate coefficient of
correlation between two variables when the data are collected on ratio scale ?

(1)  Square root of the coefficient of determination.

(2) Geometric mean of the two regression coefficients relating to two variables x and y.
(3) Covariance divided by the product of standard deviations of variables x and y.

(4) Reciprocal of the product of the standard deviations of two variables.

34. Which of the following statements are true ?

(i)  The probability of making I-type error (alpha) in hypothesis testing is referred to as
the level of significance.

(i) When the calculated value of x is more than the table value of x? at given degrees
of freedom and level of significance, the null hypothesis is accepted.

(iii) Standard deviation of sampling distribution of mean is called standard error.
(iv) For one tailed test, the critical value of Z at 5% level of significance is 1.96.

Codes :
(1) (), (iii) and (iv) (2) (ii) and (iv)
(3) (i) and (iii) (4) (ii) and (iii)

35. The industry, in which competitive advantage in one country is strongly influenced by
position in other country, is known as :

(1) Multi-domestic industry (2) Parallel industry
(3) Global industry (4) None of the above

36. Assertion (A) : BCG matrix and IE matrix both are called “portfolio matrices”.
Reason (R) : They involve plotting organisation divisions in a schematic diagram.
Codes :
(1) Both (A) and (R) are correct, but (R) is not the right explanation of (A).
(2) Both (A) and (R) are correct and (R) is the right explanation of (A).
(3) (A) is correct, but (R) is not correct.
(4) (A) is not correct, but (R) is correct.
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32.

33.

34.

35S.

36.

HY — I : TRETATR YA S U s & A1 Hehedl ¥ [T g3l ¢ |

FU - I1 : T S o A, s 31T 9goish A eid ¢ |
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&

(1) o — 11 3R 1 Tl &, STieh e — [ Tord & |

(2) A — [ R Tl €, STaifeh e — [ Terd ¢ |

(3) FuF — [ 3R 11 W&l &, STaiteh o — [ T & |

(4) SUgE T A HE W E

T W % AT TEHSY H ONH URFIAT FA &G FETArEd H W TR SR SRR
ST Ugd! € ST iR U YA WX UG R ST & 2

(1) &R ToTR &1 e

(2) I x AR y T Fafd I1 FHISA O HT SAHAT AT

(3) TR x AR y & THH [Toei & TUHEHA FRT TOISTd TeyERoT

(4) T & TEE foae & UHEwS S

freferfad 9 9 o 9 %o W g2

(i) ORI TR | [-HPR FfC (3TN FRA D G H Tedl & TR b 9 § e
fpar S e |

(i) ST S TE WA H S R Hedl % T W 42 B URHed Jod 12 & dlfershl I 9
A &I & Al Y IRBEIT TR Y STl ¢ |

(ili) TR % UicTeE de % T foraer 1 Hh IS el ST € |

(iv) U To5cd UReToT & e, 5% Hewll TR W Z 1 Shifdeh Hed 1.96 BT € |

C I

(1) (), (iii) 3R (iv) (2) (i) 3R (iv)

(3) (i) 3 (i) (4) (i) 3 (iii)

e ST U 37 H Al o ot R 391 H FeAfe | IR SIS i §, 31 el S §
(1) =g-=e] Sem (2) AR e
(3) dfvasw & (4) ST Y 9 HE T

AMUHYT (A) : BCG Ao 3R IE Aige IT I “OIehiferat Bigsy” el Sar g |
BT (R) : T AT TS THT T Tk UidhTcHsh SETITH | JAHATAT Hd & |

C JAN

(1) (A) 3 (R) 3T WET &, AT (R), (A) I T&l 7T T8l & |

(2) (A) 31T (R) IHT Tl & 3T (R), (A) H T&l ARATE |

(3) (A) Tl g W< (R) T&l F&l & |

(4)  (A) 58 T & R (R) TEE |

J-17-16 19 Paper-I11

www.examrace.com



37. Match List — I and List — II relating to WTO :

List -1 List — 11
(Agreements) (Signing dates)
(a) SAFTA (i) 9™ October, 2003
(b) FTA (withEHS) (i) 13" August, 2009
(c) CECA (iii) 1% January, 2004
(d) GSTP (iv) 13™ April, 1988
Codes :

(@ (b (© @
H @ (@) @Gv) (i)
2) @) @ @@ (@Gv)
3 v @ G (i)
4 G Gv) (@G @)

38. Consider the following statements with reference to “strategic management” of a
corporate :

(a) External opportunities are creating similar type of consumer across the world.

(b) The process of conducting research and gathering and assimilating external
information is sometimes called as environmental scanning.

(c) Lobbying is one activity that some organizations utilize to influence external
opportunities and threats.

(d) Relative deficiency or superiority is not a part of analysis of corporate strategy.
Indicate the correct option :

(1) Statements (b) and (c) are true, others are false.

(2) Statements (a) and (c) are true, others are false.

(3) Statements (c) and (d) are true, others are false.

(4) Statements (a) and (d) are true, others are false.

39. Consider the following statements :

Statement — I : When a company embarks on a global standardization strategy in today’s
world, it locates its manufacturing and other value chain activities.

Statement — II : Global standardization strategy need not find a structure that lowers the
bureaucratic costs of resource transfers.

Statement — III : The global product-group structure is weak in rsponsiveness to
customers.

Code :

(1) Statement II is correct, others are incorrect.
(2) Statement I & III are correct, II is incorrect.
(3) Statement I is correct, others are incorrect.
(4) Statement III is correct, others are incorrect.
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40. Consider the following statements :

Statement — I : The entrepreneur has to be a mere manager. He (or she) may not be an
innovator and promoter as well.

Statement — II : An entrepreneur always searches for change, responds to it and exploits
it as an opportunity.

Statement — III : The government should not try to push the entrepreneurship beyond the
boundaries of a business unit.

Code :

(1) Statement I is only true, others are false.

(2) Statement II is only true, others are false.

(3) Statement II & III are true, statement I is false.

(4) All the statements are true.

41. Assertion (A) : Business opportunity is an attractive project which motivates the
entrepreneur to accept the project for making investment decision.

Reason (R) : A business possibility may take the shape of business opportunity only when
it improves social endowments.

Codes :
(1) (A) is correct, but (R) is incorrect.

(2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct, but (R) is not the right explanation of (A).
(4) Both (A) and (R) are correct and (R) is the right explanation of (A).

42. Match List — I with List —II.
List - I . List — IT
(a) Intensive expa‘nsioni (i) Results in a new company

(b) Vertical Integration  (ii) Market penetration

() Mergérd" (iii) Creation of facilities for manufacturing
F
() Conglomefati@,n (iv) Diversification activity of product/market
| extension
Codes :

@ (b © @

(L @® @GQv) () (1)

(2) i) @@ G @Gv)

(3) @Gv) () (@ >

) @) @G @ (3Gv)
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43. Match List — I with List — I1.

List -1 List - II
(Schemes for SSI) (Basic function)
(a) National Equity Fund (i)  Working capital loans and long term loans

for fixed capital at one point.

(b) Small Industries Development (ii) Updated technology support to export
Fund oriented units.

(c) Technology development and (iii) Equity type support to SSL.
modernisation fund F

(d) Single window scheme (iv) Refinance assistance to SSI. z .
Codes :
(@ () () (@
() @G Gv) G) @)
(2) Gy (@) (av) (i)
(3) @) @G (@v) (i)
4) (Gv) i) @) ()

44. What among the following is meant to assess the performance of a business in the field of
social responsibility ?
(1)  Social accounting (2)  Social responsibility accounting
(3) Social audit (4)  Social accounting index

45. Combination I : The Classical Economical Model (CSR) — It is believed that an invisible
hand promoted public welfare.

Combination II : The Socio-economic Model (CSR) — Business is seen as on sub-system
among many in a highly interdependent society.

Codes :

(1) Iis correct but II is incorrect.
(2) IIis correct but I is incorrect.
(3) BothIand II are correct.

(4) BothI and II are incorrect.

46. Some of the driving forces behind the evolution of corporate social responsibility are :
(a) Concerns and expectations from citizens, public authorities, and investors.
(b) Decisions made by individuals and institutions influenced by the criteria of foreign
trade.
(c) Concerns about the impact of economic activities on the production houses.
(d) Increased transparency of business activities because of the development in
information technology.

Code :
(1) (a) and (b) (2) (a)and (c)
(3) (a) and (d) (4) (b)and (c)
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47. As per the Indian Companies Act, 2013 a qualified Indian company is required to
contribute at least 2% of its average net profit towards corporate social responsibilities
activities. In which of the following situations the company is required to follow the
provisions ?

(1) Turnover of the company is ¥ 100 crore or more.
(2) Turnover of the company is I 500 crore or more.
(3) Turnover of the company is I 1,000 crore or more.

(4) Turnover of the company is I 2,000 crore or more.

48. When an employee is transferred to an international location and his salary reflects his
home country’s salary with allowances added for cost-of-living differences, the employer

has used a salary plan.
(1) Cost-of-living (2) host based
(3) home based (4) transfer

49. Assertion (A) : Distributive bargaining is also termed as ‘zero sum’ game.
Reason (R) : It results in one party’s gain with loss of other party.
Codes :
(I) (A) is correct, but (R) is incorrect.
(2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct, but (R) is not the right explanation of (A).
(4) Both (A) and (R) are correct and (R) is the right explanation of (A).

50. Match the List — I with List — II relating to the forms of industrial disputes.
List -1 - List - II

(a) Primary strikes {(i) Sympathetic strike

(b) Secondegy strike (i) Dissuading those who go to work during strike

; (¢) Gherao 4 \ (iii) Wildcat strike
(d) Picketing f ' (iv) Involves criminal conspiracy
Codes :

@ (b © @

(H G @ @) (@Gv)

(2) @) @ @av) (@)

(3) (@v) i) ) @

4  (@v) (i) @) (D)
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)
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3)
4
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(i)
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51.

Choose the correct code :

Statement — I : Decide on the nature and amounts of incentives to be paid to subordinates
is a department supervisor’s (line) activity.

Statement — II : Conducting job evaluation procedures aimed at determining relative
worth of each job in the organization is a HR Specialists’ (staff) activity.

Code :

(1) BothI and II are correct.

(2) BothI and II are incorrect.

(3) Only I is correct.

(4) Only II is correct.

52. Match List — I and List — II relating to approaches to labour welfare : -
List -1 List - II f ’ -
(a) The police theory (i) Employees becoming more
organised & conscious. v
(b)  The philanthropic theory (i) ~Affection to mankind/werkers f
(c) The placating theory (ili) Compulsions® imposed oh
employees .
(d) The functional theory (iv) Also g:";llled jcfficiq'ncy theory
Codes :
@ @ © @@
H @ @ @Gv) (i)
(2 ) @Gv) @ (i)
(3) @) () @ (@)
4 av) @) @ @
53. From the following statements, select the correct answer :
Statement — I : Establishing the day-to-day climate of mutual respect and trust needed to
maintain healthy labour management relations is HR specialists’ (staff) activity.
Statement — II : Diagnosing underlying causes of labour discontent with an eye toward
anticipating the sorts of morale and other problems that may lead to unionization
efforts is a department supervisors’ (line) activity.
Code :
(1)  Only statement I is correct.
(2)  Only statement II is correct.
(3) Both statements I and II are correct.
(4) Both statements I and II are wrong.
54. The appointment of Labour Welfare Officer in Indian Industry was recommended
primarily by which of the following ?
(1) The Contract Labour (Regulations and Abolition) Act, 1970.
(2) The Industrial Disputes Act, 1947.
(3) The Royal Commission on Labour, 1931.
(4) Shri. V.V. Giri Committee.
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51. W& e B TIT B

FHUA — I : 3T BT T T FHT T 2 [T ST 1ot Wedme=T b Uhid 3R Gt & I
T 7o o T & aiet (e T) FHFA T |

HIT — I : T H USF H1F & AT Fee &l [ s & e 9 09 ST aredl
T GoATeh Vishal U 3R TWRIfeTe (2TF) 1 HE & |

T

(1) I3ARIII WEE |

(2) 13RI T € |

(3) fAFITEE |
(4) HEIE
52. ST oAl GaiHl giteshiun % Ty H gl — I 31 gE — I1 i gaferd &1
-1 T -1 f [

(a) Roferm @ (i) HEIRE o et s Fied T Fed Eh
(b) WRUBR fGgid (i) FFESTIT / RN & Ui & : ¢
(c) qltewwor fagia (i) HHIRET O &t Tt ST, {
(d) e g (iv) R i o e
kTN
(@ M) © (@@
(H (@ @Gy @Gv) (i)
(2 @Gy @Gv) (@ (i)
(3) @) @Gy @ (>Gv)
4) (@v) @) () (@)
53. TrEfaiEd et § 9§ 9el ST ol o9 e
HUA — | : T HH Yoo Goel] bl a1 T o [T 1e99eh ) G 3R fovemd o1 SHieT
FTATEROT TS HAT T R TR (%) 1 ¢ |
FUT — I : TE 3R 3 G 1 YaqaH Hd §¢ HEIRN & 31y, et o
TS % T & Tohel &, & Ui o HRUT 1 U T [T Ueieishl (ATe) 1 B
g
&
(1) FTAFFITE |
(2) FAAFFI T |
(3) FIATI S FIE |
(4) T [ 31 A1 T €

54, Trefafea & @ oo g1 mafges ©0 § 9RAE ST § 59 FHoawT SRt w gl wt
TawhTieeT =t 1% o 2
(1) wfesT g (fafeme 3R S=gem) situfad, 1970
(2) et foerg efufam, 1947
(3) f& {=et wHIvE o AR, 1931
(4) &t e, fi ot
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55. Consider the following statements and indicate the correct answer :

Statement — I : Companies that adopt value pricing win loyal customers by charging
reasonable price for a high-quality offering.

Statement — II : Value pricing is a matter of re-engineering the company’s operations to
become a low-cost producer without sacrificing quality.

Codes :

(1)  Only statement I is correct.

(2) Only statement II is correct.

(3) Both statements I and II are correct.

(4) Both statements I and II are wrong.

56. Which one of the following is true for value marketing ?
(1) The strategy of offering consumers lesser quality at a low price.
(2) The strategy of offering consumers reasonable quality at a fair price.
(3) The strategy of offering consumers high quality at a low price.

(4) The strategy of offering consumers luxury quality at a high price.

57. Match the items of List — I with the items of List — II and select the correct code :
i
List -1 List - II
(a) Visualization 1) Give, Beople an incoﬁnéléte or ambiguous stimulus
andfask them to complete or explain it.

(b) Word association (ii)y fIt requires people to create a collage from magazine
test "= photos or drawings to depict their perceptions.

(c) Item substitution = (iii) To identify the range of possible brand associations,
{ . ask people what words come to mind when they
hear the brand’s name.

Codes :
[1]
(@ () (©
(h @Gy @) @)
2 (@ Gy (i)
(3) @) Gy @)
(‘P (i) (1) (i)

58. ___ aims to stimulate repeat purchase of products and services.
(1) Reinforcement advertising (2) Informative advertising
(3) Persuasive advertising (4) Reminder advertising
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55, frfoiaa el o foar Y 3 W8l ST i g9y ;

HAA — [ : o Ui ST e UET 0 8 St HiEd ol € 9 oeg e i AT Y
IMFRR ATEehl i ST ol & |

HU — I : T | hie S T {1 61 AT Seeeh S & o WEhaT Shut o Jremet
N SR (iR HE %1 U SuRE € |

E S

(1) ol HT W e |

(2) FHaA T WIE |

(3) FUF1 AR A &I E |

(4) T [ A1 S Tord €

56. g AT & FHTArEd O | A 91 T & 2
(1) 7ITEshi ST T HIET U FHH 0T YT e Y I |
(2) TTEhi T e 3T W ST TOTERT WS A hi W |
(3) TITEhi T HH HIET T 3T T UG FHA i I |
(4) VeI T 3T BT I STRITSTIE T[0T UST 5 b I |

57. gl 1% =&l I G — 11 % A1 Foferd L 3 Tel HZ B o Y
T -1 " g
(a) T () [ Pl 3701 SFeTell STETE Je 0o § AR 3¢ 36 T A
ST AN FA Hl Fe |

i
(b) g oA TeTOT (i)~ THH A ST SO ST SN ol ST & BTt shi oy
TS ST & SHICATST S ol ATl Bl & |

(c) WE AR ¢ ()G9I SE e B g B S &G AN W T 9P T ST
L0 A SiE A A € a9 3 [GHTT § B J 9IS T |
S ]
@ ® ©
(1 @) Gi) @
(2 @O @Gy ()
(3) (i) () ()
4 @Gy (@) (i)
58. o 529 SISl ST Qeret i O WIS & SEe HT E |
(1) GEEroT fosme (2) IR fas
(3) 3Ty fawm (4) TR T
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59. Match the items of List — I with the items of List — II.

List -1 List — 11
(a) Market testing (i)  Will this product meet our profit goal ?
(b) Business analysis (ii)) Have we got a technically and

commercially sound product ?
(c) Product development (iii) Have product sales met expectations ?

(d) Commercialization (iv) Are product sales meeting expectations ?
Codes :
(@ (b () (@
() @) @ @Gv) (@)
(2 O Gy @G (@Qv)
(3) @) (1) @) (1v)
@) (O @) (@Gv) (i)

60. Which of the following factors are considered when setting the advertising budget ?
(a) Stage of the product life cycle
(b) Market share and consumer base
(c) Competition and clutter
(d) Advertising frequency
(e) Product substitutability

Code :
(1) (a), (b), (c), (d) and (e) (2) (a), (b) and (¢)
(3) (a), (b), (c) and (d) 4) (b), (c), (d) and (e)

61. Match the items of List — I with the items of List — II and select the correct code :
List -1 List - II
(a) Penetrated market « (i) The part of the qualified available market the
{ . company decides to pursue.
(b) Target market {(ii) The set of consumers with a sufficient level of
d I interest in a market offer.

(c) Availableﬂr_narket (iii)) The set of consumers who are buying the

[ rE‘ 1 company’s product.
(d) Potential market (iv) The set of consumers who have interest,
income, and access to a particular offer.

Codes : .
@ M (@© (@

(1 @Gy (@ (@v) (D)

(2 @ @Gy @) Gv)

(3) (v) (@ @) (@)

(4) () (1 (av) (1)
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59. gt — 1 % TaI I T — 11 % A1 GAfed &

(@)
(b)

(©
(d)

%

-\

ey
2
3)
“4)

et -1 T - 10
ST OReq0T (i) T 7€ SIS §UR T e Sl T HAT ?
e faveyor (i) T g TRkl 3R AvTge FHERYUT SIS i U HY
fare?
3eTs, ferehT (i) T 3cAIg T Tohl = SEAGET BT IR fpA & 2
ATOTRERToT (iv) o ScUTS 1 fersht STGT % 3R & 2

(@ () (© (@
i) @ Gv) (i)
@ G (i) (i)
i) () (@G) (iv)
@ i) Gv) ()

60. ST foTa aete @t Feiiia fomar e & o« fefeiiad # for shen ot foram foman T & 2

(@
(b)
(c)
(d)
(e)

C I

(D
3)

(@)

IS ST <5k BT =0T

TR I 3R ST 3TER

AfFfTar IR FieAed

forstromt gt

[ EHAY~AT

@), (b), (¢). (d) 3 (e) 2)  (a). (b) 3R (0)

(@), (b), () 3R (d) @) (b), (©), (d) ¥R (e)
61. gt — I % W1 I Gt — I % [ FRIAT Y 3 Tel e Bl I

TR -1 - TR -11

A INR . (1) SUeisy ang IR o {8 578 AT el e

- oig ot & |

(b)
()
(d

T

o .

(D
2)
3)
“4)
J-17-16

T TN (i) ST SR AT S TR % A SO

Joere ARy (i) STMTERTST 1 FE S ST 1 IS THEd 8 |

‘H‘HT%R-TEWTJ (iv) ST ®1 9% W9 SEe U9 R e e &g
' affirsle e 37 81 X S 39 q TET & |

@ ) (©
(i) @) (iv) (i)
G Gi) (i) (iv)
(iv) () (@) @)
i)y () Gv) (i)
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62. Match the items of List — I with the items of List — II.
List -1 List — IT
(a) Financial leverage (i)  the extent to which fixed costs are used.
(b) Operating leverage (i) Modigliani and Miller.
(c) Trade-off theory of (iii) the riskiness inherent in the firm’s
capital structure operations if it uses no debt.
(d) Business risk (iv) the extent of use of fixed income
securities in firm’s capital structure.
Codes :
(@ () () (@
(H Gy Gv) (@) (D)
2 Gv) Gy (G (1)
(3) Gv) @) @ @
@ Gv) @ () (i)
63. Which one is a true statement ?
(1) A merger in which the firms involved will be operated as a single unit and from
which no operating economies are expected is financial merger.
(2) A merger in which operations of the firms involved are integrated in hope of
achieving synergistic benefits is called operating merger.
(3) Goodwill refers to the excess paid for a firm above the appraised value of the
physical assets purchased.
(4) A joint venture is a corporate alliance in which two or more companies combine all
their resources to achieve a specific objective.
64. Which one of the following statements is true ?
(1) Market risk premium is the additional return over the risk-free rate needed to
compensate investors for assuming an average amount of risk.
(2) A firm cannot influence its market risk, hence its beta, through changes in the
composition of its assets and also through its use of debt.
(3) Market risk premium is the additional return over the risk-free rate needed to
compensate investors for assuming greater than average amount of risk.
(4) An asset’s risk consists of market risk which can be eliminated by diversification.
65. A company has a total investment of ¥ 5,00,000 in assets, and ¥ 50,000 outstanding shares
at T 10 per share (par value). It earns a rate of 15% on its investment, and has a policy of
retaining 50% of the earnings. If the appropriate discount rate of the firm is 10%,
determine the price of its share using Gordon’s model.
(1) %15 2) %30
3) X10 4) T50
66. A project will cost ¥ 40,000. Its stream of earnings before depreciation and taxes during
first year through five years is expected to be ¥ 10,000, I 12,000, ¥ 14,000, ¥ 17,000 and
% 19,000. Assume a 50% tax rate and depreciation on straight line method. The average
rate of return of the project is :
(1) 36% 2) 40%
(3) 55.56% 4) 16%
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62. gt — I % TT T G — 1 1 T&T o T GAferd e ;

T -1 =t - 11
(a) Tomiia Soic () T AT % WA 6 EE
(b) VA ST (i) WEFeEE R TR
(c) ST @M &t 28 ol &It (ii) WH FIRT 0T T TR =1&i fohe ST ot Tty o geh oo
T sfaffed siEq
(d) =Egs SAfEw (iv) &9 & UST e H T TR wiq o o v st der

T
(@ @ (© @
(h @Gy @Gv) @) (i)
(2 (v) (i) (i) @)
(3) (iv) (i) @) ()
@ Gv) () @G) (i)
63. frfeiaa o | A o1 T HUT § 2
(1) foora fad witet &7 T g & ®0 T HE KUl AR Sog fmdt off w=em g 9 9=
! I e i ST, T foera weean & |
(2) T foad wfer wHT & Tare T 39 3TN | Guisha fhar ST & b 39 Welharsiier
Y U B, TETe feeTd Sheeldl € |
(3) it o st & 9 Rl w1 TRISE T8 Hifaes uRkEmiaar o Jodiiehd fhAd & SR
fear st &
(4) TUH GIF ITH UH HRURS Tead gl & 519 1 a1 q1 § 31freh wrfar fora fafere seva
T U Y o o1 1ot Tl T & 1 Sjeet & |

64. FTAREd | 9 SF O HAF Tel § 2

(1) SR SHEw AT T 30 SRaT S Hed=T & Haemht st adqyfd & & o srevas
G o 3 o HUR BT AN W & |

(2) HE FHH YT R % T H URadd B ST /0T S A A 6 ey I o
ISR STEH 3R 3T bR 370 ST i TIfer el T Febel |

(3) IR SifEH MEET Si9d 9 S SiREaq ol SeaT &q HoRmhl #t Jfaud #= & o
YT SIET Tord T o HUR BT AN Fea T & |

(4) it 1 SHifes SR Sty e & 54 fafaieor & qream @ gare foar ST asar g |

65. Tl ST o1 WEmal § $oT T 5,00,000 HT FAY F qAr T 10 U IR (FHST) At
% 50,000 % AT IR & | TE S0 9T T 15% I ST W STHGAT U Sl & a1 e b
50% 379 U SHTE TEH i TTH! AN & | A HHAT T USRS 5T 3T 10% ¢, d e Aiea

1 TANT L gU 39 WA 1 Yoo i &Y |
(1) 15 2 30
3) %10 4) 50

66. ToHdT UfEISHT 6 AT T 40,000 & | U8et § Uied 99 % 819 31K 1 & Yo SHBI STHGAT SHH:
Z 10,000, T 12,000, T 14,000, T 17,000 3 T 19,000 T ! IHIT & | HLT @M Ugid W H T
3 B T 50% A AT | Sod GRS 1 3T Wiahet <8 8

(1) 36% (2) 40%
(3) 55.56% “4) 16%
J-17-16 35 Paper-I11

www.examrace.com



67. Match the items of List — I with List — II.

List -1 List - IT
(a) Credit limit (i) Criteria which a firm follows in selecting
customers for the purpose of credit extension.
(b) Cash discount (i1) Specifies duration of credit and terms of payment
by customers.
(¢) Credit standards (iii) Maximum amount of credit which the firm will
extend at a point of time.
(d) Credit terms (iv) Given for receiving payments before than thet :
normal credit period. 1
Codes :
@ () (© (@
() Gi) () (V) G
2) (D) Gv) GGi) 1)
(3) (i) (v) (@ (D)
@ @ Gv) (@) (i)
68. Which one of the following statements is false ?
(1) Derivatives are securities whose values are determined by the market price of some
other assets.
(2) Derivatives include options, whose values depend on the price of some underlying asset.
(3) A natural hedge is a transaction between two counter parties where both parties’
risks are reduced.
(4) The Black-Scholes Option Pricing Model (OPM) can be used to estimate the value

of a put option.

69. The buying and selling of commodity, in case of foreign currency, that has both element
of risks and chance of great profit is called

(D
3)

Arbitrage (2) Gambling
Speculation (4) Negotiation

70. The segment of foreign exchange market which comprises of banks and financial
institutions is called as

)
3)

FERA (2) Exchange Traded Market
OTC market (4)  Spot market

71. Consider the following statements :
Statement — I : GATT was formed to decide quotas and increase tariffs.
Statement — II : RTAs replaced GATT in 1995.
Statement — III : Any sort of discrimination was prohibited as fundamental principle in

GATT.
Code :
(1) Statement I and III are correct and II is incorrect.
(2)  Only statement III is correct.
(3) Only statement I is correct.
(4) All above statements are correct.
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67. Tt — I gat — IT & 91T GHferd &1 :
et -1 = - 11
() FOTHI (i) S 9w 0T foR % v 9 Teeh & 9o & ol
SO & |

(b) THFESTZ (i) 0T HN AT IR Aeeh FRT A 1 ¥l ol [ FAT & |
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C T

(=N

@ ® (@© (@
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@4 @ @Gv) @ >
68. TTAfcIRE & B |1 FHAF Tord § 2
(1) =g o wiagfeaar & S gog Hiaua o uRgmiar % SR 9o 51T iR e € |
(2) T ey M B &, 5o Jog 2 Taifehd TREm e & Jod W) R e € |
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T ST H TR ST H ¢
69. T % FA N Fasea T, FRen UE & W & et S #iR statis oy S fef s 3
FHEAT &
(1) FR-IUA (2) Sgem
(3) @ (4) HiRemST
70. TRl GT IR 1 e @Ue Ay S 1R forir Gemt Infhet gt &, FHectar &
(1) U (TF § 3R 0) (2) UFHGST ¢ST Hhe
(3) 3 ° TnIR (4) BN ISR

71. AR AT W e #Y
FAA - I : T (GATT) Sl AT il & Ty | F0R™ o 3R wefesh # gfg - & fow &6t 78
off |
A — 11 : 71 (GATT) 3T a9 1995 H RTAs FRT Wiqeiud far T |
HYA — I : 7€ (GATT) H Jord fagid & ¥ § fhdt ff Hep o Sgurer 31 fue femar ar o |
&
(1) oot I 3R I Tl & 3R e [ TTeid & |
(2) oot A [ T € |
(3) FTAFTITEIE |

(4) SUgE el e TEE |
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72. Under which of the following system of perfect capital, mobility increase in exports or
expansion in government expenditure or a tax cut, does not affect equilibrium level of
income ?

(1) Fixed exchange rate system (2) Flexible exchange rate system
(3) Balance of payment equilibrium (4) Changes in money supply

73. Assertion (A) : Companies face different competitive situations depending on the
products, strategies and countries where they operate.
Reason (R) : A company’s competitive strategy influences how and where it can operate.
Codes :
(I) (A) is correct and (R) is incorrect.
(2) (A) is incorrect and (R) is correct.
(3) Both are correct and (R) is the right explanation of (A).
(4) Both are correct, but (R) is not right explanation of (A).

74. Match List — I with List — II relating to legal system in the world.
List - I List - IT

(@) Common law system (1) Codified/fggal sys‘{em
(b) Civil law system (i) Based on wisdom ollf daily experience
(c) Theocratic law system  (iii) Based'on tradljioona{l and case judgement
(d) Customary law system (iv) Based on relig
Codes :

@ (b © @
(H @) @ @Gv) (@)
2 O ) @ (3Gv)
(3) (@Gv) (i) @ (@)
@4 O Gv) @) >

precepts

75. Consider the following statements :

Statement — I : Stakeholder cannot influence how and whether companies operate
through FDI.

Statement — II : The effort to create favourable political relations has led many countries
to replace obstacals to FDI with incentives for FDIL.

Statement — III : The effect of a multinational enterprise activities may be simultaneously
positive for one national objectives and negative for another.

Codes :

(1)  Only statements I & III are correct.
(2)  Only statement I is correct.

(3)  Only statement III is correct.

(4) All statements are correct.
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72. TefafEd & @ 69 97 OsTt ooTedt o 37erid, Tard 5 afesoqar gig 37erer Wl &g | fawr
3TET ST HRldl T ST & T TR T T T8t aeel € 2
(1) Taa fafma < vomet (2) = TomE 3T WOt

(3) WA |t | (4) TT gfa § Ui
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Tt - 1 A et - 11
(a) T HFA 0T (i)  wfeeRg A T
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(@ M © (@@
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(3) (@v) (i) (@) (i)
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